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Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Chinese Traveller. Huen Tsang visited India during the reign

of this king

I Harshavardhana
2. Ashoka

3. Kanishka

4, Satavahana
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Identify the mismatched pair
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Viswanadha Satvanarayana — Srimadh Ramayana
Kalpavruksham

Nanduri Subba Rao — Yenki Songs
Srirangam Srinivasarao — Firadausi — A Rebel
Gurram Jashua - Kandiseekudu
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Andhra Kesari titled leader to oppose lathi charge related to
Simon Commission in Madras was

L, Tenneti Viswanatham
2. Tanguturi Prakasam Panthulu
3. Rajagopalachari

4. Lala Lajpati Roy
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Chatrapati Shivaji fought with this kings army

¥
2.
3.

4

Akbar
Humayun
Mohammad Bin Tughlaq

Aurangazeb
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The Supreme Commander of the Armed forces of India is

1. The Prime Minister

2. The President

3. The Vice President

4. The Defense Minister
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The Present Vice President of NITI Aavog is

[
2.

(%]

4

Suman Bery
Sindhusree Khullar
Amitabh Kant

[.G. Patel
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Identify the mismatched pair related to states and their folk

dances
1.
2.
3.

4.

Maharashtra - Tamasha
Andhra Pradesh - Dhunsa
Odisha - Chou

Gujarat - Chadya Dandanatha
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“Give me blood. and I shall give you freedom.” these words
are said by

1. Jawaharlal Nehru

2 Sardar Patel

Subhash Chandra Bose

4. Bhagat Singh
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The purpose of ‘Pradhan Mantri - Jan-Dhan Yojana’ is to

1. Provide housing facility to all families

2. Bring all the families of both urban and rural area into
the purview of banking

3. Provide gas connections to all the poor
4. Provide financial assistance to the farmers
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Identify the mismatched pair
1L, 12" January — National Youth Day
2. 24™ January — National Girl Child Day

8™ March — UN Day for women’s Rights of
International peace.

Lk

4, 28™ February — National Physics Day
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The language which is called as ‘The Italian of the East’ is

1. Hind1
2. Sanskrit
3. Tamuil
4, Telugu
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The author of the book ‘Unstable Earth’ 1s

1.
2,
3.

4

J.A. Steers
Gillbart
Pascal

Delis
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The film ‘The Tashkent Files" is based on the mysterious
death of

1. Lal Bahadur Shastri

2. Shyama Prasad Mukherjee

Homi J. Bhabha

4, Subhash Chandra Bose
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This is used for artificial rains

i Magnalia

2 Silver Iodide

3 Calcium Phosphate

4. Hydrogen Peroxide
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The name of the Indonesian National Airlines is

i Tiger Indonesia

1o

Garuda Indonesia

Elephant Indonesia
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Cheetah Indonesia
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Identify the mismatched pair
1. Dollar - Barbados
2. Rouble - Belarus

L |

Won - Japan
4, Dinar - Algeria
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After March 2024, the eligibility age for senior citizen to vote
through postal ballot is

L. 70 years
2. 75 years
3. 80 years
4. 35 years
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Dadasaheb Phalke Lifetime Achievement Award for 2022 is
awarded to

1. Mithun Chakravarthy
2, Aiswarya Roy
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The Central Government has announced this pension scheme
for employees from April 1. 2025
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1. National Pension Scheme

2. Old Pension Scheme

New Pension Scheme
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4. Unified Pension Scheme
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Summer Olympics 2024 was held m

Los Angeles (America)
London (Great Britain)
Paris (France)

Shanghai (China)
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Sub-Section Number : 1
Sub-Section Id : 392266242
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 3922667741 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

“English language would contribute to the revival of India.
just as Greek and Latin contributed to the revival of England.”

said by

I Elphinstone

2. Macaulay

3 Sadler Commission
4. Sargent Committee
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‘The authorities audit report record’ belongs to this section in
the school registers

i
2
3.

4.

Correspondence Register
General Register
Academic Register

Supervision and inspection Register
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This Article of the Indian constitution deals with the
‘education development of women’
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4. % 4
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NCLP school are managed by

I NGOs

2. Government Teachers
3 Corporate Companies
4. Various Industries
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According to NEP 2020. Anganwadi workers / teachers who
has lower education qualification than 10+2 will be given the
training for this time pertod

1. 6 months diploma course
2. 8 months diploma course
3. I vear diploma course
4, 2 years diploma course

NEP 2020 (35750 10 + 2 537) S5 o758 $Ke @0rST e
56,6 / 8385 B+ ToBdWA Ko B%rs KE0 SR8,

1 6 Foo EH5T EESJ
5|

2, 8 Foe &35 §5<§]
L ]
3. 1 ROSSS &P Eﬂ%
Lo |
4, 2 BosS o &% 5553
L |

Options :
1. % 1
2. % )
3.3
4. % 4

Question Number : 26 Question Id : 3922667746 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247]

The word ‘Ethos’ 1s derived from

1. Latin
2. French
3. English
4. Greek
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This is the best method to teach moral values. as per the
recommendations of the Secondary Education Commission
(1952-53) and “National Curriculum Framework 2000°

L.
2
3,

4.

Integrated approach
To teach value education as separate subject
Direct participation

Involving in various social activities
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“Listening carefully to the opinions of others™ is this type of

value

i, Democratic value
2 Social value

T Permanent value

4. Spiritual value
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Under this section of the Right to Information Act 2005, every
citizen of India can request for information of his / her choice

1. Section 4 (1)

2. Section 6 (1)

3. Section 9 (1)

4. Section 2 (I)
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Wrongly matched chapters and its components of NCF — 2005

15
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2.

(b

4.

NCF -

Chapter 2 — Learning. knowledge

Chapter 3 — Perspective

Chapter 4 — School and Classroom Environment
Chapter 5 — Systemic Reforms
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The responses in Operant Conditioning are

L.
2;
3

4.

Naturally emitted
elicited
un natural

either naturally emitted or elicited
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This step of memory process can be measured by this
formulae

Initial trails —relearning trails

%100
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Options :

1. %1
2.¥2
3.% 3
4. % 4

Question Number : 33 Question Id : 3922667753 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Chronological age and mental age of a student are 12 years
and 15years respectively. As per 1.Q. level classification he
belongs to this category

1.
2.
3.

4

Very superiors
Superiors
Gifted

Given data 1s insufficient
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Question Number : 34 Question Id : 3922667754 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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‘Self-smart” people possess this type of intelligence

1. Visual spatial intelligence

2 Interpersonal intelligence

3. Intra personal intelligence

4. Naturalistic intelligence
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4. |35)D Dowods By
Options :
1% 1
2. %2

3.3
4, % 4
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Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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The stage when the learners regardless of their best efforts.

temporarily seems to ‘stop’ making visible progress

L.
2,
By

4.

Plateau stage
Initial spurt
Fluctuations stage

Spurt after plateau stage
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Question Number : 36 Question Id : 3922667756 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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A boy is believer of God. He thinks that God never forgives
the sinner. Therefore he never did any sin. Here the motivation
mvolved 1s

I,
2.
3

4.

Extrinsic motivation
Intrinsic motivation
Achievement motivation

General motivation

2.5 27endd FRToEE e S32)50. s SRS’ Sdp B
TA PRS0 IPBS EW0E. SHPT VS IIPE
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BowN

Options :
1. % 1
2.9 2
3.%3
4. % 4

2% (@3e

e90e55es fﬂfﬁﬁ
M

i3S (fatﬁra

Fleplefar) [ﬁ}tﬁt&

Question Number : 37 Question Id : 3922667757 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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‘Understanding total learning situation’ happens in this
learning

1. Insighttul learning

2 Programmed learning
3. Operant conditioning
4, (Classical conditioning

OIS B NGO @IS DETHE” @30
Xa &aeﬁgmﬁé’s 2380113¢8008).
# ] e
1. E:BOGBSCSJE% &9255;\:550
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Options :
1.v 1
2. % 2
3.%3
4. % 4
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Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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A student failed in SSC examunation. But he dreamed that he
would be selected for IAS and became District Collector. This
defense mechanism is

1. Rationalization
2. Fantasy

3 Displacement
4, Denial of truth
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Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Symptoms of poor mental health 1s

L.
i
3.

4.

Adequate ability to make adjustments
Socially adjustable
Lives in his own world of imagination and fantasy

Always lives in the world of reality

Sorasm e.—::a*SGFﬁé DN
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= e

Options :

1. %1
2.% 2
3.¢ 3
4. % 4
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Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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These methods are NOT useful to assess the personality of an

individual

a. Personality inventory

b. Minnesota Clerical Aptitude Test

C. Bell’s Adjustment Inventory

d. Metropolitan Readiness Test
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Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 3922667761 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

3 o T3 <
If x—1 1s a factor of ax~ + bx—5 then
ar’ +br—3 5 ¥ — 1 5eT0%0 eond

1 a=5. b=l
2. =—5.b=0
] a=5. b=0
-+ a=235, b=I

Options :

1. %1

2. %2

3.¥3

4. % 4

Question Number : 42 Question Id : 3922667762 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
(1.5x — 4y) (1.5 x+4y+3) — 4.5x+12y+4y (4y) =
1 225X+ 9y
2. 225x*-16y

225+ 16y

4 295%

2

(8]

Options :
1. %1
2. %2
3.% 3
4.9 4
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Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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5
A rational number 1s such that when you multiply it by — and
2

2 =3 _
add — to the product vou get — . The number is
3 12
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Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Question Number : 45 Question Id : 3922667765 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

If . B.y are zeroes of ¥’ +3x° —x—3thena” +p* +y° =
o f.yen x3+3x2—x—3<fm§b_ fﬁrm{g@ﬁ o +pP+yi=

L. 7
il 8
% 9
4. 11

Options :

1. %1

2.% 2

3.% 3

4.9 4
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Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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1. a—b=0
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Options :
1% ]
2.4
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Question Number : 47 Question Id : 3922667767 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

What is the range of the values of the constant K. if the
equation x* + kx + 16 = 0 has no real roots
+kr+ 16 =0 DWEeTIS TR Mo BIgS R¥oE

;
5
K &a&tﬁb_ Qewnse ;"5330

1. —5<K<5
= —2<K <2
3. —8<K<8
4. —16<K<16

Options :

1. % 1

2.% 2

3.¥3
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4. % 4

Question Number : 48 Question Id : 3922667768 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

If x = sum of first 40 even natural numbers

y = sum of first 40 odd natural numbers. then y—x =

X =005 40 H8 VT ﬁﬂ?pgﬂ o050

=208 40 T vres ROPge VLo 00T y—x =
1. —40

40

—20
4. 20

1o
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Options :
1.¥ 1
2. % 2
3.% 3
4. % 4

Question Number : 49 Question Id : 3922667769 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The largest binomial co—efficient in the expansion of (1+x)'*is
(1+2)" GBoox), IBeS® 08 DY BHE Korsko
924
2. 816
3. 792
4. 495

Options :

1.v1

2. % 2

3. %3

4.% 4
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Display Question Number : Yes
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Correct Marks : 0.5 Wrong Marks : 0
The domain of function y(x) defined by equation 3* + 3" =3 is
X ¥— 2 & e - w Lol )
37+ 3 3 BabESsE oo ﬁjc‘);sﬁ'}ouam% Boao y(x)
SB0¥), [@BO¥o

1. [3, )
2. (—o0, o0)
3. (—oo, 1]
4. (—e0, 1)

Options :

1. %1

2. %2

3.%3

4.9 4

Question Number : 51 Question Id : 3922667771 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

1 0 0O
If A=|2 3 4|anddetA=45thenx=
5 —6 x
1 0 O
A=12 3 4|S8cdw A R)G;ESL‘D = 45 8013 x =
5 —6 x
1. 27
2. 23
3.
4. 7
Options :
1. % 1
2. % 2
3.% 3
4. ¢ 4

Question Number : 52 Question Id : 3922667772 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
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Correct Marks : 0.5 Wrong Marks : 0

Which of the following 1s NOT TRUE.

i
2

-
¥

4.

Mode 1s not effected by extreme values
Mean is influenced by the value of every
Observation in the data

Median is uneffected by extreme values
Range of first *n’ whole numbers 1s ‘n’

2008 BiBn I8 I

B
2.

3
4,

Options :
1. %1
2. %2
3.%3
4.9 4
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Question Number : 53 Question Id : 3922667773 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

In first 10 overs of one day cricket match of 50 overs the run
rate was only 4.4 what should be the run rate in the remaining
overs to reach the target of 366 runs?

2.5 50 238 53 (338 555" Insd 10 458 S
508 4.4 SrEDH £08. 366 DD TEIWH DEHE T 0
DADS E5ES” 08 BRVE e5H8E0?
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Le]

4.

Options :

8.05
8.25
1.3

7.05
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1.v 1
2. % 2
3.%3
4. % 4

Question Number : 54 Question Id : 3922667774 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The meanofa.b.c.dandeis 32. ifthemean of a. dand e 1s
28 then the mean of b and ¢ 1s

a.b.c.ddcve o cfmﬁb_ Wit 32, a. dSH0dsw

eo® ::?Jmﬁb_ SR 28 @0 bddw ¢ Emﬁb_ P leb)

i 38
2 36
3. 34
4. 32

Options :

1.v 1

2. %2

3.%3

4. % 4

Question Number : 55 Question Id : 3922667775 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The point of intersection of the less than type and of the more
than type cumulative frequency of a grouped data 1s (15.5, 7.5)
then median 1s

2 S0¥)S So0¥0 Book), &8 Ire $0dn e8I
Hodés ﬁﬁﬁ:‘@ﬁ"g@ P0o&ES Doty (15.5, 7.5) wond

5&(’.‘55?‘19265333
1. 7.5
2. 23
3. 8

4, 15.5
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1. % 1
2. %2
3. %3
4.¥ 4

Question Number : 56 Question Id : 3922667776 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Mode of the following frequency distribution is
@D& ?.?’521.’;}555 LGN ?;’::%E D_i:tJEE]_ RPN

CI |0.00-0.04 |0.04-008 |0.080.12 | 0.12-0.16 | 0.12-0.16
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0.11
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0.06

4. 0.09
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Options :
1. % 1
2.% 2
3.¥3
4. % 4

Question Number : 57 Question Id : 3922667777 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

If the variance of 0.1.2.3.........9 1s K. then the variance of
10,11.12.13........19 15

D123 ... 9 chﬁb_ 5):@%)@ K sows 10,11,12,13,.... 19 c:TmEb_

Options :
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1. % 1
2. %2
3. %3
4.¥ 4

Question Number : 58 Question Id : 3922667778 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Two dice which contain A.B.C.D.E and F on their faces are
thrown simultaneously then the probability of getting two
vowels on two dices.

Sorop AB.CD.E 8diw F eorr 80068 Dok
TOLOK 230 NDTIF. B0 FDEODP S0 elyen
RS DORHIS

1
1. —
18
1
2 —
2
¥ 5
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9
Options :
1. % 1
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4. 4
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Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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A bag contains 10 yellow. 15 blue. 20 red and 25 green balls.
A ball 1s picked out without looking into it. Probability of
getting a ball that is neither yellow nor blue.

28 H0DS” 10 H0%, 15 00, 20 DY 00850 25 esHHS)
20den o). oﬁrﬁg&g:‘-ﬁom 2% 200 H0d oW
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Options :
1. % 1
2.% 2
3.3
4. % 4
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Correct Marks : 0.5 Wrong Marks : 0
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From a pack of 52 playing deck of cards. jacks. queens and
kings of red colour are removed. From the remaining cards.
Probability of getting black king card 1s

52 Sthen Ko DESH © 5 H0& JDPBor Ko wrie,
ooed Bc Ty e SoRoSndSd. WADS Hed’
Sey) over s"*rtiﬁ:; FORTNS éozy:ﬂgé

1
L. —
26
1
2. —
46
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26
1
4,
23
Options :
1. % 1
2. % 2
3.%3
4.9 4
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Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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There are hundred cards which are numbered from 1 to 100.
Find the sum of probability of getting a square number and
probability of getting a cube number

1 500& 100 S85 Hopgen MLB0LRGES J0& s~hen o). 3
‘éoa:agaﬁa FOLTIS ‘n’boamige:é 2o8di Pod ﬁoa:ga‘b POSTRE
ROZrHise IGO0 BTG,

1
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Options :

1. % 1
2. %2
3. %3
4.¥ 4

0.10
0.12
0.13
0.14
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Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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A and B are independent events with P(A) = 0.2 and
P(B) = 0.5 Then P(A/B), P(B/A). P(An B) and P (AUB)
respectively are

1. 0.2.0.1.0.5and 0.6

2 0.1,0.2.0.5and 0.6

3. 0.1,02.0.6and 0.5

4. 0.2,0.5.0.1and 0.6
A 08w Bew ‘éﬂsv‘é@@é otsen P(A) =0.2. 50850

P(B) = 0.5 eand P(A/B). P(B/A). P(An B) s585»
P(AUB) ex St

1. 02.0.1.0.55865» 0.6

2. 0.1.0.2.0.5 53050 0.6

3. 0.1.0.2.0.6580650 0.5

4. 0.2.05.0.1 5850 0.6

Options :
1. %1
2.% 2
3.% 3
4. 4

Question Number : 63 Question Id : 3922667783 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Y— axis divides the line segment joining the points (-6, 15)
and (3. 5) mnternally in the ratio
(6. 15) .(3.5) Doty 58 Tye po) Y —eo

©ossom PR IRNG

1 132
2 2:1
3 9:20
4 32

Options :
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1. % 1
2.9 2
3.%3
4. % 4

Question Number : 64 Question Id : 3922667784 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The vertices of a parallelogram PQRS are P (-3. 5), Q (1. 10),
R (3.1) and S (—1. —4) and M is the point on side PQ. The area
ARMS is (sq. units)

[sivelela el ijéat’%ao PQRS &0, %-:Ee.:.: P (-3, 5). Q (1, 10),
R (3.1) 500c5» S (-1, 4) 08csn PQgbhasnom Mas
DOLHYH oS ARMS &nk), Feego (S.6008")

1
2.

LS |

+

Options :
1. % 1
2.% 2
3.% 3
4. 4

144
92
46
23
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Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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The area of an equilateral triangle whose vertices are (a. 0).
(—a. 0) and (0, av3)is 83 5q. units then the value of ‘a’ 1s

(a.0). (—a.0)58d30 (0, a3 ) os® DY BiberT | @abe
éﬁﬁ@éo 843 35,8535, eonS a O"JJJEE}_ oS
1. 2

sl b
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g

L
L
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Options :
1. % 1
2.2
3.% 3
4. % 4

Question Number : 66 Question Id : 3922667786 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The difference of length of diagonals of Quadrilateral PQRS
whose vertices are P (—6. 0). Q (—4. 3). R (—6. 8§) and S (-8. 3)
1s (1n units)

P(—6.0).Q(—4.3). R (—6. 8) :00c5n S(-8.3)ew &camnﬂ
Ko PQRS sS¢btye Sgo P& 23035330 (di’s:&ﬁ)é%éﬂ)

1. 4
2. 45
3. 5
4. 55

Options :

1.¢ 1

2. % 2

3.%3

4. % 4

Question Number : 67 Question Id : 3922667787 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
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Correct Marks : 0.5 Wrong Marks : 0

)
If the slope of a line joining the points A (a. 3). B (— T Z%J 15

% then a°—1 is

!

A(a.3).B [—?.2%} o0 50 Tparen é wond a—1
B, JeoD

1 3l
-

2 11l
4

)
|

£
|

4. 13—

Options :
1. %1
2.¥2
3.% 3
4. % 4

Question Number : 68 Question Id : 3922667788 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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The direction ratios of a line are (—6. 2. 3). The direction
cosines are

2.¥ Op OF ﬁﬂ@;@: (—6. 2. 3) ®wond oo O ST

(6 —5 —8
V. ———
\ 7
(—6 2 3
2 =
B
= (6 =2 —3]
. —
5" 5 " 5.
(—6 5 8
« [0
5 55
Options :
1. % 1
2.2
3.% 3
4. % 4

GET IT ON
Google Play

Question Number : 69 Question Id : 3922667789 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

The angle between the straight lines represented by
2x° +5xy+ 21 =5x—Ty+3=0 18

2% + 500+ 2y —5x— T+ 3= 05003 Ty o:ubs 500

(4
1. cosH =
53
r"_}}\
2 P
3
.
o o 4
3 St Y 2
‘\S.
(3
4 tan —]
\ 3
Options :
1.¥ 1

2. % 2
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3.% 3
4, % 4

Question Number : 70 Question Id : 3922667790 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The equation of circle with centre (2.—3) and passes through
(—5.1) 18

(2.-3)Boon EOA (-5.1) KoomPd ) ¥AESm0
1. 41 —4x+6y—-44=0
2. O+ +4x—6y—44=0
3. X4y —4x+6y-52=0
4. 4y +4x—6y—52=0
Options :
1. % 1
2. % 2

3.¢3
4.% 4

Question Number : 71 Question Id : 3922667791 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The eccentricity of a rectangular hyperbola
2.5 002 addorsedino ée’ﬁbo@i@

1. 2
2. V2 +1
3. A3
4. |
Options :
1.v 1
2. % 2
3.%3

4.% 4
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Question Number : 72 Question Id : 3922667792 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

If 4 =45"then the value of (CosecA—SinA) (SecA—CosA)
4=45"wonS (CosecA-SinA) (SecA—CosA) &), Jeos

L.
Vi

o]
b | s k= =2

Options :
1. %1
2.% 2
3.9¥3
4. % 4

Question Number : 73 Question Id : 3922667793 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

AABC is a scalene triangle with base AC. if AC = 6cm,

AB = 3 cmand ZBAC = 60°. then the area of triangle in cm’
1s

AC & Ko 2.8 e (Bgbzmo ABC &°

AC =620.2. AB = 1/320.50 508a50 ZBAC = 60°,

@oS (Hbes Eﬁ“mgo 35.200.5.08°

1 4.5
R
3. (4.5)4/3
4. 153
Options :
1.v' 1
2.% 2

3.% 3
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4. % 4

Question Number : 74 Question Id : 3922667794 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Which among the following increases continuously in the
range 0° <8 <90°?

0" <8 <90" ;'*5;:;955 808 >8S° B JenFen (Ko

BRI,
. Sinb. Coto
2 SecH. Coso
3 Sinb. tanBd
4. SecH. Cosecb
Options :
1. % 1
2. % 2
3.¢ 3
4. % 4

Question Number : 75 Question Id : 3922667795 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

If Cos (x+50°)=Sin (y—50°) then Sin (x+y) — Cos (x+y) +

Cos30

Cos (x+50%) =Sin (y—50°) evais Sin (x+y) — Cos (x+y) +

Cos30 By, Deoys

(8]

4.

Options :

&
i
4342

2

341

3442

2
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1. % 1
2.9 2
3.%3
4. % 4

Question Number : 76 Question Id : 3922667796 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Area of Rhombus ABCD is 18+/3 ecm? and BD = 6¢m then the
ZDAB

croeS ABCD &w, eege 18+/335:70.2. 55860
BD = 6 0.2 escws ZDAB

2
g
3.

4

Options :

1. %1
2.9 2
3.% 3
4. % 4

30°
60°
90°
120°

Question Number : 77 Question Id : 3922667797 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Inner part of a cupboard is in the Cuboidical shape with its

length. breadth and height in the ratio v/2:1:1 . then the angle
made by the longest stick which can be inserted into the
cupboard with 1ts base diagonal 1s

2. 63 DTTB0S” &) E55°G 7% rKoS” FEY, Ien)
500050 e NG V2 :1:1eowS & 5T5ES° vey 0
28 5E, o 2 Bk, SYoS” Tckw §ea0

L 45°
2. 60°
B 30°
4. 157

Options :

1. % 1

2. % 2

3.¥3

4. % 4

Question Number : 78 Question Id : 3922667798 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Which of the following does not exist for some value of “x”
AS® 2.8 e ¥’ 308 FES° FEg» TG

o —21
1. Cosy=——
3/
) 26
2. Sinx =—
;
3. tanx =29
4. Secxy=1.9
Options :
1. % 1
2.9 )
3.% 3

4.% 4
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Question Number : 79 Question Id : 3922667799 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The value of Sec (2100°)
Sec (2100°) SBoo¥), Jewss

: M‘E
2 2
. 2
3. ~r=
V3
£ 3
Options :
1. %1
2.9 2
3.% 3
4. % 4

Question Number : 80 Question Id : 3922667800 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

3
InaAABC.Ifa=3.b=4and SinA = 1 then 2B
3

|Bho=o ABC&®a=3.b=4 58d%0 SinA = i oS /B
k. 90°
2. 60°
2. 45°
4. 30°

Options :

1.¢¥ 1

2. % 2

3% 3

4, % 4

Question Number : 81 Question Id : 3922667801 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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5
If SecO+tan6 = % then value of Sin® and the quadrant in

which ‘0" lies

SecH+tand = = evcms Sind Dews :308c5w 8 D ol

s | b2

20858

. 5
1. S = —-—_ 8 e,

13

. ]
2. Smi= ——. 8e,

13

il

. ]
SO =+—,0€g,

13
. 5
4. Smb=+—.60€(,
13
Options :
1. %1
2.2
3.% 3
4. % 4

Question Number : 82 Question Id : 3922667802 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

For two non—zero. non collinear vectors a and b if
| a+b | = | a-b | then angle between a and b is

a.b oo WY, FBPSrer T VOB

lat+b|= |a-b|ecns a.be ;‘3.:5556530

& 60°
2. 90°
3 120°
4. 150°
Options :
1% 1

2.9 2
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3.% 3
4, % 4

Question Number : 83 Question Id : 3922667803 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The area of the Parallelogram for which the vectors
a=21—3j+3K and b =1 + 2j —5k are adjacent sides 15

(in square units)

a=21-3]+3K 8l b=1+2j -5k 8% &)

oo Ko HIrosY S FTeo (SEEY crIgs’)

1 v 782
2. J390
3. *u'29‘9
4. J158

Options :

1. % 1

2. %

3.3

4. % 4

Question Number : 84 Question Id : 3922667804 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

If OA=1+3j+2k, AB=3i-2j+k. then OB =
OA=i1+3j+2k. AB=3i-2j+k e@awns OB =

3 —2i+5]-k
s R,
3. 4i+j+3k
4,  —4i-j-3k

Options :

1. % 1

2.% 2

3.¥3
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4. % 4

Question Number : 85 Question Id : 3922667805 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

= ]

i

* X" +9

1. 11".2’.11'1 [l] +¢
9 9.
1 i

2. —Tan"x+c¢
3

3 lTan_l(i}—!rc
3 3

4. l Tanx+c¢
0

Options :
1. % 1
2. % 2
3.¥3
4. % 4

Question Number : 86 Question Id : 3922667806 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The value of lim (e b0, az+bis
=0 Sinbx
. Sinax
lim bz20,a= b)cﬁ:ﬁb Denss
x=0 Sip by
1. ab
a
. L
b
= b
¥ —
a
4 log,a
' log, b

Options :
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1. % 1
2.9 2
3.%3
4. % 4

Question Number : 87 Question Id : 3922667807 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

If f(x) = e* + Sinx Cosx. then £’ (x)

f(x) = e* + Sinx Cosx. esco0:3 £ (x)

[ e* 4+ Cos 2x
2. e® +Sin2x
3 e* +2Sin x
4. e* +2Cos x

Options :

1.9 1

2. % 2

3.% 3

4. % 4

Question Number : 88 Question Id : 3922667808 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

"
3.
J-I'Sj"?? xdx=
0
1 0
2 1
2 T
. /2
4. T
Options :
1. %1
2.9
3.% 3

4, % 4
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GET IT ON
Google Play

Question Number : 89 Question Id : 3922667809 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the TRUE statement/s

(1)
(1)
(iii)
1.

2,

=S

2k

@
(i1)
(111)
1.
2,

4.

Options :
1. %1
2.% 2
3.% 3
4. 4

2kg:500g=10km: 2.5 km
20 seconds : 3 hours = 1 meter : 900cm

T1: 10 paise = lcm : lmm
only (1)

only (i) and (11)

only (i1) and (i11)

only (i) and (1i1)

BN (iS50 K80508.

=

(70

28, 15000 =103.25 : 2.58.2

208 : 3 Kotwes =1 5568 : 90020.2.

11 10%e0 =120.20 & 120.2b.
(1) 55|80

(1) s508a5w (ii) So(&Rd

(if) So8as0 (iil) Som(g8o

(1) So8asw (iii) e (&S

Question Number : 90 Question Id : 3922667810 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247]

The difference between compound interest (compounded
annually) and simple interests on a certain amount of money
for two years at 4% per annum is I10. Then the amount of
money 1s

03 f?:l:tjé_éi = ;Se_@n}cbﬁjf‘ 4% g&@e 3 mow@“}m@g o
(‘:CJDSSP‘_@“}D”“?}E 2, ¥ar8 -:QI& @Eﬁa?‘i”é&a QD@R}) 15[\_%:5& Iblalesbh)
eplmptetar ;‘3%&: ;5355 35;::5‘* T10 e9005 es r&mé.

L < 6250
2 < 6300
3. < 6500
4. X 7500

Options :

1.v¥1

2. %2

3.% 3

4. % 4

Question Number : 91 Question Id : 3922667811 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The expenses on oil. vegetables and rice of a family are in the ratio

12:13:15 respectively. The prices of these are increased by 20%
30%. 50% respectively. The total expenses increased by

2.¥ ¥¢00208° S50, ErSmaioen S5r0din ﬁoﬁ;s;i:me: aJ&JJm

SEBHM 12:13:15 AQBS® earyow. IS e SR 20%, 30%,

50% 0o, @ond I ko D HOAS a::&a FE50.

i, 32.5%
2. 33.5%
3 34.5%
4. 35.5%

Options :

1. %1

2.% 2

3.3


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247]

4. % 4

Question Number : 92 Question Id : 3922667812 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

In a hostel of 180 boys the food material is sufficient for 37

days. After 12 days of hostel life, 30 boys left the hostel. The
number of days for which the remaming food material will last is
180 35008 ezryonen Ko ¥ S0 Hfroéﬁ 37 Seroi

DEBE ST ST Ve ETow. 12 oo ‘;rﬁf{gg
29es50 S0 30 08 ezryonen & O 508 ST,
[ o]

DADS es5vy Sloglo DD WADS werycweHd DA

SPere ?60335
1. 30
2 32
3. 34
4. 36
Options :
1.v1
2. % 2
3.% 3
4. % 4

Question Number : 93 Question Id : 3922667813 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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If the cost price of 12 apples is equal to selling price of 18
apples. then the loss percentage 1s

12 28 S0 £H)[0, 18 esHO DOES SREPRIRTLE
[ | |

DIrTDB SHFEOo
1 30%
2 50%
% 1
3 33— %
3
|
4. 30—%
3
Options :
1. % ]
2. % 2
3.3
4. % 4

Question Number : 94 Question Id : 3922667814 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

An amount of T1170 is divided among three persons A. B and
C such that 3 times A’s share. 2 times B’s share. 4 times C’s
share are equal. The shares of A. B and C respectively are

Jo 170 Iwe) A. B H8cdn C &b M0 SiheH A
23 3 Bew, B 23 2 B, € 2rrmds 4 Dy BIrss
ciiaaggjaﬂor? H0T2E&08. ®and A, B. CoH oods ermen
NfebiTen
1 3270, %180, 360
2. ¥390.%260. 3520
3 3520, 3390, 3260
4. 360.%540.3270

Options :

1. % 1

2. % 2

3. %3
4.¥ 4
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Question Number : 95 Question Id : 3922667815 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Percentage of numbers from 1 to 70 (including 1 and 70),
which have 1 or 9 in the unit’s digit

1 508ci» 70 © ségie (1 528650 700¢° H559) nospée:es“
258 3;5065 18z 9 Ko ﬁ0$§@ T80

I 20
2 23
3. 30
4. 35

Options :

1.1

2. %2

3.%3

4. % 4

Question Number : 96 Question Id : 3922667816 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The smallest 4 digit number which is divisible by 9. 18. 24
and 32 is
9,18,24 :H8cin 320T JHHor Aot el @0t

Eﬁ@&@ “n”:ioaz}s

L. 1080
2. 1152
3. 1306
4. 1536

Options :

1. % 1

2.2

3.% 3

4. % 4
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Question Number : 97 Question Id : 3922667817 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Which of the following 1s/are terminating decimal(s)
: 16 cop: LS 9

(1) = (11) = (111) =

1 (1) only

2. (1) and (i1) only

(1) and (111) only

4, (1). (11) and (111)

208 3&° @0&&65}5 SaoTen

il

W o ) = ) =
L (1) S

2. (i) D8cs» (ii) Sooe

3. (1) so8asw (iii) sSom(ggd

4 (i) (if) 508w (iii)

Options :
1. %1
2.% 2
3.% 3
4. 4

Question Number : 98 Question Id : 3922667818 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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If log (102 (log ):% and log ( ?]:—Hhen HCF (x.y)=

"'L

25
log (1-:.2 4dog’ )
Ko (x.y)=

1 el
3 =08a5w logh}!{‘logz_!, ) =—1000J

K,
2,

fid

|

3

6
4, 9
Options :
1. %1
2.9 2
3. % 3
4. % 4

Question Number : 99 Question Id : 3922667819 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
If the pair of integers (a, b) such that a = b= -3 and
a+b+8=0,thena=
a+b=-33008c» a+b+8=0. @553536.56!? ‘o’é}'bg‘ﬁoa:ée: e3¢5

(a, b)wons a=

1 —4
2 4
3. —12
4. 12

Options :
1. %1
2. % 2
3.3
4. % 4

Question Number : 100 Question Id : 3922667820 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
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Correct Marks : 0.5 Wrong Marks : 0

Which of the following statement 1s TRUE?
208 BS” SSgHSSS0 AO?

&8 4+1:i+4
4 4

o

424+ =(4=4)+(4=4)

1 1
4. —— |+4=(4+4)-]| ==+
(4 4] S [4 4J

Options :
1. %1
2.% 2
3.% 3
4.9 4

b

L]

Question Number : 101 Question Id : 3922667821 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

V13.824 +3/15.625 -317.576 =
1. 23

2.
3.

4.

o 1D 1D
RS TN

Options :
1.v 1
2. % 2
3.%3
4. % 4

Question Number : 102 Question Id : 3922667822 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Let abe be any three digit number. then abc+bca+cab 1s not
always divisible by
abc 95358 D8 ¥ Sardose 0OPg oD abc+bea+cab

@58 1308 BS° BID DOY)ET aPROBLED.

1. a+b+c
X 3
3. A7
4. L7
Options :
1. % 1
2. % 2
3.%3
4.9 4

Question Number : 103 Question Id : 3922667823 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
HA= {x x=w+1LneN.n 54} ,B={x:x1s an integer and
x"—9 =0} then which of the following is TRUE
A= {:r x=m+Ln EN.P?$4} ,B={x ixa¥t ‘Q}'ﬂ%‘ﬁoa}é S8
X9 =0} wons ($0d T&S° BP0,

1. n(A-B)=35
2. n(AnB)=1
3, n(AUB)=5

4. n{B—A)=2

Options :
1. %1
2. % 2
3.% 3
4.9 4

Question Number : 104 Question Id : 3922667824 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Identify the WRONG statement
All rthombuses are parallelograms

1

2 All squares are thombuses and rectangles

3. All rectangles are squares

4 All parallelograms are trapeziums

B0 ToEGI0 Moo

1. @R}:} ﬁﬁ;ﬁé@ﬁ;ﬂﬁ'ﬂm NaaTr0es s Q@J&Jﬁ?m £9:) "0

2. o) SEdFres H5 Seotymen B 8Y
Seod(ren @HTTow,

3, &) Ebg SELY|Tren Hel|ren @PhTow

4. E)Rg} PSS leT e ﬁ”eléatbeja'ﬂm Dowoe 5@353%)@@:
£330,

Options :
1. % 1
2. % 2
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Question Number : 105 Question Id : 3922667825 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
In AABC. DE/BC. If AD=2.3cm. DB=6.9cm and EC=4.5cm
then AE 1s
AABC &° DE/BC. AD=2.320.55, DB=6.9 0.2 :5:8c%»
EC=4.5 20.%. wond AE Jenss

3 3.0 cm
2. 13.5¢cm
3 1.5cm
4. 1.8 cm

Options :

1. %]

2. % 2

3.3
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4. % 4

Question Number : 106 Question Id : 3922667826 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

*‘AB’ 1s a chord of length 10cm which is drawn in the circle of
center ‘O’ and diameter 26cm. The perpendicular distance
from center to the chord 1s

1. 10 ¢cm
7.3 16 cm
A 13 ¢cm
4. 12 cm

‘O BoEan $BE0 FHHI0 26 0. 1 e FFmed®
10 0.2 &y Ko “AB’ 2] S, So(@sw ok &g
&% oo SrEHn

1. 10 0.5
2 16 0.2
3. 13 o2
4 12 Do.2s

Options :

1. % 1

2. % 2

3. % 3

4.9 4
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A circle touches all four sides of quadrilateral KILMN.
If KL = 12cm. KN = 14cm, MN = 18cm then LM is

l.

LIPS T O

<

8 cm

20 cm
16 ¢cm
44 ¢m

KILMN iSe:ithiJersD o‘:’mgb_ Sreni Sores) arXidir ok
SYE0 Kok, KL =12 0.0, KN = 14 0.2, MN =
18 0.2, eand LM Jenys

1,
2.
3.
4.

Options :

1. %]
2.% 2
3.3
4.% 4

8 20.3.

20 20.5.
16 ®o0.00.
44 30.20.

Question Number : 108 Question Id : 3922667828 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The supplementary angle of an angle ZA is three times to
angle ZA. The sum of complementary and supplementary
angles of ZA 1s

2.8 S'eaio0 ZA &0k, BorBl oo e 5700 LAD
a7 T, oD LA BB Ul S0 BOYrHE

e ISVATTe
452

i 180°
3. 25
4. 90°

Options :
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4. % 4

Question Number : 109 Question Id : 3922667829 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The ratio of an exterior angle and one of the any interior
opposite angles of an equilateral triangle is

¥ Diersv (B Bk wririEieo Hdcin AJI” &8
08507850 S ea5nSH K}?.’:S@

2 12
2. 2:1
3. 1:3
4, |
Options :
1. %1
2.2
3.%3
4. % 4

Question Number : 110 Question Id : 3922667830 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The perimeter of a triangle 1s 12 cm. If all the three sides have
lengths (in cm) in integers. then how many such triangles are
possible?

28 (@ghz0 BnY) SotnSed 12 0., o) (Bibe fhere
oo (oo’ ?.’érg ‘5:03;35&)03;@'5, Jﬁg) E5re DEIIDH
(Boeren @“55;3:5@@103.}?

1. 5
2 2
3. 3
4. 4

Options :
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1. % 1
2. % 2
3.¥3
4. % 4

Question Number : 111 Question Id : 3922667831 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

CART 1s a rectangle. Intersecting point of diagonals ‘CR” and
‘AT’ is ‘O°. If CO = x” +3x+7and OR = x’ +4x+5then value
of x and length of any one of its diagonal respectively are

i 4 and 35
2. land 11
3. 2 and 34
4. 3 and 25

CART o558 2.5 DY 5&d(p0. Sgeo CR 50850
AT © 20&S L0809 ‘0. CO= a? +3x+ 72885
OR=x"+4x4+5 0cnd x Jews S00di» DT a5
S50 PEYP S
1. 4 58cn 35

1 :>8a50 11

2,
9. 2 5o0Bcis 34
4,

3 08dw 25
Options :
1. %1
2.% 2
3.9¥3
4. % 4
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The ratio of the slant height and height of cone is 2:+/3 then
the angle between radius and slant height is

FopPh Swk), Momres I HBAH I NG 2:43
9008 a“gci‘l“gc} 508050 trTen Jee ;3355 5°630

1
2

fsd

4.

Options :

1. %1
2. % 2
3.% 3
4. ¢ 4

15°
45°
30°
60°

Question Number : 113 Question Id : 3922667833 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

A cone of height 7cm and base radius 3cm 1s carved from a
cuboidal block of wood with dimensions 10cm x 6cm x 2cm.
Then the percentage of wood wastage in the process is

10 0.2 X 6 D02 X 2 0.0, Foden Ko 2.8 BY sy
DY), By WO& 7 0., &, 3 0.0, TR0 KOAS
FOPoPRO TS, wowd e (HIEHS” Sy wans Iy,

-

Fen0

1.

2.

=
.

4,

Options :
1.v1
2. %2
3.%3

45%
421%
2

33%
331%
”
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4. % 4

Question Number : 114 Question Id : 3922667834 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

ABCD is a parallelogram whose adjacent sides are equal and
BD=13cm. area of ABCD is 65cm” then the length of AC in
centimeters.

e:sma Zozgren DIPN0 Re NXT0eS wﬁe:&.)tbejzeo ABCD
oY), OO 65 $500.0 O BD = 13 0.20. @00
AC &%), P 0.0

y.. 3
2. 10
= 6
4, 9

Options :

1. %1

2.2

3.% 3

4. % 4

Question Number : 115 Question Id : 3922667835 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

A right triangle with sides Scm. 12cm and 13cm is revolved
about the side 12cm. Then the ratio of cuwrved surface area
and total surface area of the solid so obtained

5 0.2, 12 0.5 50853 13 0.2, gharen Ko o025
(@220 12 20.20. Ko 2Hzo Jowd (55080 Vb, ST
ESEESIPSESEIN) c:TJJJEb_ OJL;P_QE} 63_?@?30 Rblalosbh! ﬁeﬁ@gﬁﬁ}
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1. 12:5
2. 13:12
3. 3
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Options :
1. % 1
2. % 2
3.3
4. % 4

Question Number : 116 Question Id : 3922667836 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Which of the following groups of English alphabet letters have
both horizontal and vertical lines of symmetry?

2308 3Q)T GO VKT VINTEHOS" VITOSY 0N
002y TS Tpew SOAT 05007650

1 X T
2. X.H.O
3. X ¥ Z
4, A:B, €

Options :

1. %1

2.9 2

3.% 3

4. % 4

Question Number : 117 Question Id : 3922667837 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The volume of a cube is 216¢cm’ then the length of its diagonal
in centimeters

2.5 $050 Book), PoXsH0res0 216 20,205, sons T
K850 PEY D008

1. 83
y TR ¥ ]
3 63
4. 62

Options :
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1. % 1
2. % 2
3.¥3
4. % 4

Question Number : 118 Question Id : 3922667838 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

If diagonals of a Rhombus are 7cm and 3 cm respectively.
then the perimeter of quadrilateral which formed by joining
mid-points of the sides of thombus in cm

¥ 0ol Sk Sgen SHdm 720.05, 3 0.2y, eons

orond GY). S Sl 2)0GEHOT Dﬁg&;ﬁ;‘ SRS

’
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2 4.5
2 10
3. 5
4, 9
Options :
1. %1
2.2
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The ratio between the perimeter and the breadth of a rectangle
is 5:1. If the area of the rectangle is 216cm”, then its length in
centimeters

OY $5E8(p0 @), $iSTod Hicw IEew IS 51,
oo EE“E}50 216 5.200.2 eons PEY oo

L.

(TR

e

Options :

1. %1
2.9 2
3.%3
4. % 4

16
I8
24
26

Question Number : 120 Question Id : 3922667840 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The length of the nunute hand of a clock is 14cm then what is
distance covered by the minute hand i 10 minutes in
centimeters?

2.5 KE&ArE0S" Jdoire S0 FEP 1420.%.
10 dired” & Soey (FAETB0S Er80 0..08°

L.

(42

Options :

1.v¥1
2. %2
3.% 3

142
3

15l

3
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Match the definitions of the Mathematicians

A Francis Bacon 1.

B. Aristotle 1.

i Kant 111.
V.

Science of quantity

Mathematics is the
indispensible instrument of
all physical researches

Indirect Measurement

Gateway and Key of all
sciences

Ke3d e (KREen g)o ALBT 0D BEBTBs.

A. @“3}‘\)5 35S -

B.  wda8S i

C. o8 iii.
1v.

1. A-iv.B-11 C -1

2 A~ iSRS

A-v.B-1.C-11
4. A-m.B-w. C-1

fad

Options :
1. % 1
2.% 2
3.3
4. % 4
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Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0
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The statement “No Subject loses more than mathematics by
any attempt to dissociate it from its history” was said by

L. Lim
% Chapman
3. Fried

4. J.W.L. Glaisher
28 VB TN SO ok LD 2 ¥PY °E Kedeso
©0E SHIPL” B BRYSO

1. &%
o TS
3. &
: 9, s
4, E.c‘ém:;!s.i}g gﬂomg
Options :
1. % 1
2. % 2
3.% 3
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The person who along with Bertrand Russell. challenged that
“any one could show where logic ends., where mathematics
begins™ was

L. Descartes

2. White head

3. Felix Klein

4. David Hilbert
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Identify the correct statements

I.

Il

L R

o

—i

IL

I

LS ]

4.

Options :

1. % 1
2. % 2
3.¥3
4. % 4

Inductive reasoning is not a valid method when
concerned to proof

Though deductive reasoning appears to be simple, there
1s every possibility of going incorrect in many
situations

I is correct: 11 1s incorrect

I is incorrect: 1T is correct

Both I and II are correct

Both I and II are incorrect

(WaStdagain/eoay Rofowhan

e KDT IIST VDR 002000DF HPSTeIS
SEB e,
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Because of whose writings, the work of Pythagoras and his
disciples became known to the world

L. Epicaramos
2. Hippopotas
3. Phyllodus
4. Architan

Q50 BETe SN PERED 0G5 el %Ix:ge.a Eq}il

Qfa‘s‘:oﬁ“ﬁ}% SHHoE.
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Options :
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Question Number : 126 Question Id : 3922667846 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

In which vear the Indian Government issued the postal stamp
for the first time in honor of Srinivasa Ramanujan

BATR CErHES KETY0o 08B o Sres DH
PRI (HE0E0 EO BT VOIBYO

E 1962
2. 1987
3. 1992
4 1997

Options :

1.v 1
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4. % 4

Question Number : 127 Question Id : 3922667847 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Mathematician who was the first to suggest that letters can be
used for unknown quantities

1. Aryabhatta

2. Pythagoras

3. Gauss

4, Archimedes
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4. &351)_30&5
Options :
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2.% 2
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One of the mathematicians who mfroduced the School of
Intuitionism

L. A N. White head

2. Bertrand Russell

3. Henri Poincare

4. David Hilbert

WOBENG FE0 / FoRarehE FE) (BIFDES
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Options :
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Identify the correct statements

L.

IL

-3 =

Lad

pe

Understanding : The pupil established relationship
between two quantities given in a problem

Application : The pupil corrected an error in a given
concept

I 1s correct; II 1s mcorrect
I 1s incorrect; IT 1s correct
Both I and II are correct

Both I and II are incorrect
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4. 4
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A scientist who wonders “how mathematics has got so many
uses in the world even though 1t 1s man made™ 1s

L, Newman
2 Taylor
3. Einstein
4, Hogben
“NeBS0 NP Saitd DHIZIL)BE B3 3T EvSorren
der FTm)ow” @ eFE5o HEo BIS TEIE
] Ri?é?mﬁ
2. 8Beb
3. 335%:;5
4., 5B
Options :
1. % 1
2. % 2
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The statement “the student will be able to predict the shape of
truncated cone™ 1s the specification of this objective.

1. Skall
2. Knowledge
3 Understanding
4, Application
i ’ e I T N
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Options :
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Which of the following is not the principle of curriculum

construction?
L. Principle of Difficulty
2 Principle of Flexibility
3. Principle of Utilitarian value
4, Principle of Activity
308 >VS° Aoy (PerPE Jo°yes Hor(Go I
1. L35 Joe|do
2. SrH)S% dew drigo
3. Dz e AE|go
4. SECERS U
Options :
1.¥1
2. % 2
3.% 3
4.% 4
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If the student learns the concept ‘Integers’ in the beginning
and agamn after some gap in the class 7. the curriculum
organized m the following method

L.
2.

(il

4.

Topical Method
Concentric Method
Logical Method
Spiral Method
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A good mathematics textbook should contain examples that:

1. are extremely complex to challenge students

2. are in accordance with the situation and with clarity
3 are only focus on the gifted students

4. are unrelated to the text to mcrease difficulties.
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A “Preface’ or ‘foreword at the beginning of a textbook
describes the following of the textbook.

A.  Specify the Scope

B. Specify the advantages

e Specify the objectives

D.  Specifies the values
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What is the role of ‘Mistakes and errors’ in Heuristic method
used 1 Mathematics teaching?

1.
2;
3.

4.

Mistakes and errors are not tolerated
Mistakes and errors are seen as failures
Mistakes and errors are valuable learning opportunities

There 1s no room for mistakes and errors.
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“Education 1s Life” stated by

i,
2.

Lad

4.

Lord
Kil Partrick
John Dewey

Stevenson
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When using problem solving in mathematics. which one 1s the
key factor of success?

1.
2.

=
o

4.

The speed at which a student solves the problem
The ability to apply learned concepts to new situations

The number of problems that a student can solve in a
set time

Student’s ability that without any errors.
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A suitable topic for teaching in project method

i Area of a circle
2. Pie chart

Discount

b

4, Surface area of a Sphere
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This is not included in a unit plan.

1. Content analysis

2, Teaching strategies

% Teaching learning material
4. Evaluation
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“A teaching outline of the important points of a lesson
arranged in the order in which they are to be presented. may
include objectives. points to be made, questions to ask.
references to materials. assessments etc.” This definition for a
lesson plan is given by

1.
2
3.

4.

Herbart
Good. C. V.
Bloom. B.S.

Morison
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Which of the following is not related to Herbartian steps?

1. Preparation

2. Presentation

3 Response

4. Application
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“A unit 1s a large block of related subject matter which can be
over viewed by a learner™ stated by

) Herbart
2.4 Preston
3 Galton

4, Thurston
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The influential experience in ‘Learning through observation’
category of Edgar Dale cone of experience.

1. Motion pictures
2 Demonstrations
3. Field Trips

4. Exhibits
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According to Edgar Dale’s cone of experience. which of the
tollowing 1s correct?

1.

b

3.
4.

More Passive experience — High retention
More active experience — High retention
More Visual learning experience — High retention

More auditory learning experience — High retention
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Which of the following has to be considered while selecting

teaching learning material?

A.
B.
C.
D.
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Compatibility Objectives

Popularity
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The aid used for vocabulary. symbols in the lesson. how to
pronounce them or for revision is

L. Peg Board
2. Bulletin Board

3. Geo Board
4. Black Board
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Which of the following are the enrichment activities for gifted

students?
1, Providing historical developments of various topics
1. Appreciation the good work done by them.

iii.  Limiting the divergent thinking perspective.
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Identify the correct statements
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Question Number : 150 Question Id : 3922667870 Question Type : MCQ Option Shuffling : No

Games and laboratory activities are suggested as
supplementary material for slow learners

Test items from mathematical Olympiads and national
talent tests should be provided as supplementary
material for slow learners.

Both I and II are correct

I is correct: IT 1s mcorrect
Both I and II are incorrect
I 1s incorrect; IT 15 correct
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To teach slow learers. the teacher must possess this trait
1. Efficient

2. Experienced

’Jr"r

Subject Expert
4. Resourceful. Efficient. Subject Expert

DOTEPFOLHOLH FTRHOW ST EEERILD SoLSOMS VEETOUO

1. S Pvhloblet)
&

2 908 s0eR o

3. JREL DRHEWVED

4. XGRS, BB, Iach Ve
Options :
1. % ]
2. % 2
3.% 3
4.9 4

Question Number : 151 Question Id : 3922667871 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Which of the following is a strategy to improve accuracy
I Practicing problems with a time limit

2 Skipping difficult problems and returning to them later

Lk

Encouraging verification of results.

4, Focusing on speed rather than method
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Oral work 1s considered as important in teaching mathematics.

Why?

1.
2.

-
2

4.

Useful in memorizing Principles

Encourages active Participation of students and
immediate feed back

An easy method for teachers to use.

Useful for improving hand writing skills
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Main aim of using ‘Drill work’ in teaching mathematics

1.

42

Develops creativity

Useful for students to work together in implementation
of Complex projects.

Replacing the need for conceptual understanding

To strengthen the understanding and skill of the
students on fundamental mathematical skills.
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A book having ‘Kantikaabharanam™ Problems which were
examples of mathematics order

1 Leelavathi Ganitam

2 Aryabhatteeyam

Ganita Saara Sangraham

4, Pancha — Siddantika
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The arrangement of triangular numbers belongs to this form of
mathematics aesthetic structure

1. Pattern

2. Symmetry

3: Sequence

4, Order
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Who states the need to start a Mathematics club mn the School
i, NPE - 1986
2, PoA - 1992

Kothari Commission

)

4. Mudaliar Commission
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Match the following
A, Validity 1,
B. Reliability i,
€. Objectivity iii.
D.  Practicality iv.
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Easy to administer
Measures what it is
intended measure
Consistency of results
Free from bias and
Provide impartial results
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A teacher 1s interested 1n assessing both the factual knowledge
and critical thinking skills of his student. Which of the
following would best serve this purpose?

L.
2
3.

4.

Fill in the blank Questions
Essay Questions
True / False Questions

Short answer Questions
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Which is the best use of diagnostic evaluation?

i
2.

5
2.

+

Before going to teach a new lesson

When defects are identified during teaching learning
process

After completion of the teaching

Teaching is going on
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In the process of preparing an evaluation tool. which is the

first step

1. Predetermine the Scoring Procedure

2, Identify the objectives of the evaluation
3. Selecting different forms of questions

=

Standardization of the tool with experts
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